d

20

A
e
e
I

EETH @

Fas |
J EBFBLSDDELLMA
{E= BRI I EHE

D)

23

(20254F9H1H~30H%)

A /Ly
J\w E—X T —)VIHH&EZIIBOOK

: FESE - HbIE>

QR O=iiy

FEBIEDENE
BERBFZAU— D
YIEBZEBT. AZ(IH
TOEHEARZED £
(FTL\B, [TRC MARC
£0]

MEFFRR—Y X —)\—RE5—1E
> —X>2-1]

| AR BT/ )

*KDDONTVBDEDIF, VIIRASDHOZARTY,

AR SHABR/ BafE

HADIME 1~8 HH {CFR/E(E
VDD DZEFEZ D IZILRETF S ANMBOBRE(CEX e & BN E /&
=
—ANOED. HARERDIBFONSIEES ZAHEKE 1~3 POORX N 78E
BOBICEZOEICBEIECERE BE5 IRBEIH/1E
IREZDLBUVOHD ~BOADLKBELEDFETENA~ KB XYF/EE
BB EACIROTZEBRRT7>X oK BE/E
: BiYp - B>
ADAUERNDONBIER - EAIHA 1~3 BKFEE/E
FEBDRETT - [CHBWTT ML EFI/X
FEEBDRAFTT « AL ML EFIX
FEEBDNTTT - Z1ITT M EFI/X

o5t/ \WNWSEDEH
DHWIERITT> 10

DUEEWED HARDER| Ho 2K

KO EsM gL 7 REE
HEUWSEDOMEE
(FUBHIUTHRNE

J

~
—

[<OOwEWHKR
—ON—T

WHY  ME Smt
—
<

IOt (1

arriotu St

BT /7BM X iRE

2> FII/E

DU EWE/&E

&R e D /78

&R a0 /&

IRo7—=)L ZILFU—=)\/E

u g il - fg‘tg nis ﬁ:ﬁ‘i

ez alsy - -
g%% A“L‘E&%’O):ﬁﬂ'ky‘; ?2-‘\3
- ol
. E | @
e | 52

LET]

- MEfFEOHEBR (RES) 2025.10 -



<B&EFE:BE - F= - piE>
15 MR ET ST TEZ DIREME 1~3
J5 NAZIAD N RAFTLADUVHD
15 BTNV HhA
<BEE : #V - AR—
17 HAR—YRX—)( -5 —{5 >—X>2-1
17 X)L TCIFEE
17 ST L wv NTES S EhEERR LMD T v &
<L%§% . u/lﬂ?‘#ﬂ u%>
19 NS T ILERITH 4
19 BELDY—HF -7 > FF—
J9 BIRDOMND &9 T DFERDECER
J9 —F—fHEATLHDR 2
J9 19458H6H»p =80F159). NI=ULIZ
J9 FREXREATODNESTEZOVUDELDSBALLD
19 UZ<INER 6
J9 EBREBR~AAINT—RXHBERB A —1U—BOOK
Jo WDOMET £ F
19 BEFIEATWEFEA
19 REEZRE (FEFTE LR
J9 (FREFRTIILAE DS IFAKER
Jo IWWILESSDIDINALLY
<V OFHILS 8 - BA>
YAJ5 HERZENDILAZIED T, BFEE, BICHEIB!
YAJ5 HR—oE ULV AP
<YV OTH)I S Y - 35>
YAI9 EJ DR AT
YAJ9 h=.3>70Y7+
YAJ9 NO 6B 2
35 Eg
R g JL
nbr =
it i
I
g i X4
&
qT
10A25H8(%) 13:00~14:00
REfEGARI—F—
ANBEBIY—IUTEASREAIIZLEDETT,
[IZASNZFAA0ERE]
10H4H (1)~30H (K)
REEREBE

\ A SEADIOE DRGIET RS,

i BE/EE
HE BDH/8E
KE FOR/E

NR—=2R=)L B2 /7iwE
A2 /A
SFUA wH—7F

[EIE I5F /X

& SIRRZA/1E
MEEY W I/1E
S FIX/[iR)E
LWhe&E 505745

=M E1T/1E

BH RR/AE
EBREAR~NAEER/R
UX TSRITIL/E
Bk F/AF

IIMRIR TR 71F
)V ERRASH/IRE
HAUD PI/HE &

Bfe

1£8 &R8l/&
TR /&
INFE DUVWA1E
tE Bfm/E
HED HDOZ/

F o NIRI AT A =
3 +
5N v
ESEAWAN
=3 &z
HE S =%
WAt R
=505
1T T
17T 2 D A
e
4 10R/KEER )

6H(H) - 13H(R)
148(X) - 20H(A)
27H(R) - 318(&)

gEDFERHR (BEZE) 2025.10 -



